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QUESTION 1

An engineer is configuring MPLS Traffic Engineering Inter AS TE in a service provider network. Which of the following
tasks must be performed to reoptimize tunnels for loose path reoptimization procedure on the routers? 

A. BGP must be configured on each router being used for MPLS TE. 

B. Each router must be configured with the mpls traffic-eng reoptimize events link-up command. 

C. Next loose IP address in the explicit path must be specified using the next-address loose A.B.C.D command. 

D. Midpoint reoptimization must be configured on all routers. 

Correct Answer: B 

Reference: https://www.cisco.com/c/en/us/td/docs/ios-xml/ios/mp_te_path_protect/configuration/xe-16/mp-te-path-
protect-xe-16-book/mpls-traffic-engineering-inter-as-te.html 

 

QUESTION 2

You are enabling NSF for IS-IS. What are two advantages of Cisco NSF variation over IEFT NSF? (Choose two.) 

A. It does not rely on NSF-aware neighbors. 

B. It continues forwarding IP packets until route convergence is complete. 

C. It provides NSR in addition to NSF. 

D. NSF-capable router receives the adjacency and link-state information from NSF-aware neighbors. 

E. It allows the standby RP to take control of the device after a hardware or software fault on the active RP. 

Correct Answer: AE 

Reference: https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst6500/ios/15-0SY/configuration/guide/15_0_sy_s
wcg/nonstop_forwarding.html 

 

QUESTION 3

Refer to the exhibit. Which Cisco IOS command is used to implement a VRF-aware GRE tunnel inside the MPLS
network VRF Blue? 
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A. tunnel destination vrf GREEN 

B. tunnel vrf GREEN 

C. ip vrf forwarding BLUE 

D. tunnel vrf BLUE 

E. tunnel destination vrf BLUE 

F. ip vrf forwarding BLUE 

Correct Answer: D 

 

QUESTION 4

Which is one important advantage of using DS-Lite? 

A. allow the service provider to rapidly deploy IPv6 in a lightweight and secure manner without requiring upgrades to the
existing Ipv4 access network infrastructure. 

B. ability to automate the address-family translation of IPv6 traffic over IPv4 network without requiring any manually
mapping between IPv4 and IPv6 prefixes. 

C. relocate the centralized NAT functionality from the AFTR to the B4 to reduce the amount of state information that
requires to be kept on the AFTR. 

D. ability to automate the tunneling of IPv4 traffic over IPv6 network without requiring any additional IPv4 address
space. 

Correct Answer: C 

 

QUESTION 5

Which statement about Cisco CSR 1000v Series Cloud Services Router is true? 
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A. It is a non-SDR owner created on a Cisco ASR 1000 router series. 

B. It is a cloud-based virtual router deployed on a virtual machine instance on x86 server hardware. 

C. It is a virtual router reflector function enabled in a Cisco ASR 1000 router series. 

D. It is a multichassis solution based on two or more Cisco ASR 1000 router working as one single virtual router. 

Correct Answer: B 
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